
0 x 6

6 x 6

9 x 6

10 x 6

4 x 6

3 x 6

5 x 6

8 x 6

1 x 6

2 x 6

7 x 6

36

0

24

30

42

18

54

6

12

60

48

Exercise 1:

Draw a line from the sum to the correct answer. 

Exercise 2:

Fill in the missing number.

__ x 6 = 6
__ x 6 = 0
__ x 6 = 60
__ x 6 = 18
__ x 6 = 12

Exercise 3:

Fill in your answers.

10 x 6 = ___
0 x 6 = ___
3 x 6 = ___
5 x 6 = ___
2 x 6 = ___
1 x 6 = ___
8 x 6 = ___
6 x 6 = ___
9 x 6 = ___
4 x 6 = ___
7 x 6 = ___

6 times table worksheet
Name: ________________


